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2505  Lecture 20       
Chapter 10    Inductive generalization

Here are two deductive arguments about crows:

All crows are black

Harry is a crow

-------------------

Harry is black

All crows are black

----------------------------------

All the crows in my yard tomorrow will be black

Both of them just make manifest what is really already known
--------------------------
The conclusion of an inductive argument makes a leap from what is observably true to what is assumed will hold true for those cases not observed.
------------------------
The conclusion of an inductive argument always goes beyond the premises

· The 3,000 people who were tested reacted adversely to the new drug.

· Therefore, all people will react adversely.

Sometimes the conclusion of an induction is used as a premise in a deductive argument

· Drugs to which people react adversely are drugs which should not be approved

· The new drug is a drug to which people will react adversely 

------------------------------------------------------------

· The new drug is a drug which should not be approved by the government

----------------------------
Most induction is induction by simple enumeration
That means we count up all the relevant examples we know of and make a prediction about the ones we don’t know about yet

The first crow I ever saw was black

The second was black

The third was black

The fourth was black

---------------------------

All crows are black

What’s right with this?

What’s wrong with this?

Induction by simple enumeration 
(Inductive generalization)

--------------------------------
“The sun always rises in the east” is an induction from the generations of observable events

Every day that someone saw the sun rise, it rose in the east

But that does not and can never prove that the sun will rise in the east tomorrow

------------------------------------
How do we make certain that our inductive argument is justified (properly constructed, hence reliable)?

By making enough observations so that the generalization does not seem too large a leap

Unjustified (poorly constructed) inductive arguments stem from several causes

1. generalizing from too-few examples

2. generalizing from an unrepresentative sample

3. generalizing to a hypothesis that goes too far beyond what the evidence will support

You’ll remember that in deduction we divided propositions into universal and particular

Universal  --  all or none

Particular  -- Some 

---------------------------------------------------

We make this distinction in induction as well:  

The technical terms are Strong and Weak
Strong is universal  --  refers to a proposition that asserts something about all members of a group

Weak is particular  --  refers to a proposition that asserts something about some members of a group
--------------------------------

A line stretching from non-justified to justified is the continuum on which we rate inductive arguments

 bad   ​​​​​​​​​​​​​​​_____________________  good

worse                                            better

Non-justified is bad -- Justified is good

Other appropriate terms:

Reliable and unreliable

-----------------------------------

Evaluating inductive arguments:

Consider:

Sarah has 3 jackets 

----------------------------

Sarah has a black jacket

What is the likelihood of my conclusion being true?  Am I justified in believing it?

Sarah has 3 jackets

Black is her favourite colour

Her mom gave her a black jacket last year

-----------------------------

Sarah has a black jacket

What is the likelihood now?

Is my conclusion justified?

Reasonableness, relevance, sufficiency
------------------------------------------

Inductive generalization is also called induction by enumeration (by counting)

Enumerating all the instances of something that we know about in order to strengthen the acceptability of our conclusion about instances that we don’t know about

(to increase the likelihood of our conclusion being accurate)

------------------------------
Inductive generalization is a very specific type of inductive argument 

The first crow I saw was black

The second crow I saw was black

The third crow I saw was black

The fourth crow I saw was black

---------------------

All crows are black

Is the argument a good one?

What would make it better?

Because inductive generalizations are built on sampling, when we want to judge an inductive generalization, we want to look at that sample.

------------------------------
We judge the sample used to base the inductive generalization on by four criteria:

· Comprehensiveness

· Size

· Randomness

· Margin for error

(P  265)

----------------------

What kind of rules do we use to judge the evidence?

1. the explanation should really explain the observation


2. the explanation should be powerful – it should cover a wide range of similar observations  (especially important in science)


3. the explanation should be modest and simple (Occam’s Razor)

4. the explanation should be conservative







